Lesson 26 University

2 cost of university education, subsistence payments,
accommodation

3 1aren't 2haveto

4 1T 2F (Private universities are expensive, but state
universities are not.) 3T 4 F (They are falling a bit.)

5 1 really expensive
2 doesn’t cost a lot
3 maybe £9,000 a year / borrowed from the government

6 a5 b3 c1 d4 e2 f6

7 1 You don’t pay for a higher degree, such as a Master’s

or PhD.

2 Because she got a scholarship.
3 They decide if you get a grant for studying / doing
research.
4 That if you have fun instead of doing your homework,
you have to do it all in the last two weeks of term.
8 1(xb) 2((x3) 3(x2) 4(x3)
9 1 Not free, but cheap 2 Student house / rent a flat
3 (hall of) residence 4 Hall of residence (first year only)
10 1 Because the university accommodation is not very
good.
2 It's expensive.
3 Because it's cheap.
4 Because there’s not enough student accommodation
for everyone.
11 Suggested answer: He has a positive impression, as he
makes a lot of interjections such as Yeah and Nice.



